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Sixth Semester B.E. Degree Examination, June/July 2019
Digital Signal Processing
Time: 3 hrs. Max. Marks: 80
Note: Answer any FIVE full questions, choosing
ONE full question from each module.
Module-1
1

L
b

Determine DFT of sequence x(n) = % for 0 <n <2 for N = 4. Plot magnitude and phase
spectrum. (08 Marks)
Two length - 4 sequence are defined below :

x(n}=cm[?] A= 2 8

h(n) =2" 7=012 3
1) Calculate x(n) ®, h(n) using circular convolution directly.

1) Calculate x(n) @, h(n) using Linear convolution. (08 Marks)

OR
Compute circular convolution using DFT + IDFT for following sequence :

x]{n)={%. 3 ] 1}, xz(n}:{‘}\, s 3}. (08 Marks)

Find the output of the LTI system whose impulse h(n) = {1, 1. 1} and the input signal is
x(n) = {3, -1, 0, 1, 3, 2,0, 1, 2, 1}. Using the overlap save method. Use 6-pt circular

convolution. (08 Marks)
Module-2

What are FFT algorithms? Explain the advantages of FFT algorithms over the direct

computations of DFT for a sequence x(n). (04 Marks)

What are the differences and similanities between DIT and DIF —FFT algorithms? (04 Marks)
Find the 8-pt DET of the sequence x(n) = {1,2,3,4,4,3,2 1. Using DIT - FFT radix — 2

algorithm. (08 Marks)
OR
Find the 4-pt circular convolution of x(n) and h(n) given Using radix-2 DIF - FET
algorithm. (08 Marks)
T L 1) hen)
Wl i
CR I Y i 3 =5
an Fig Q4(a)
Given x(n) = (n + 1) and N = 8. Determine X(K). Using DIF - FFT algorithm. (08 Marks)
| of 3
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